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= 5,800 3,600 2,200
14 JIE2 43 11,600 7,200 4,400
O U=WEH &2 X
3& 11,600,000 11,600 7,200 4,400
= 5,800 3,600 2,200
= 5,800 3,600 2,200
SHEHA HWEXNES[E] 1,756,000 1,756,000 0
[ 314,042 229,452 84,590
= 1,441,958 1,526,548 A84,590
307 2Ito1d 1,756,000 1,756,000 0
< 314,042 229,452 84,590
z 1,441,958 1,526,548 A84,590
B 2=gHEXS 1,756,000 1,756,000 0
O sHEHA HEXEZS X
&3 1,756,000,000& 1,756,000 1,756,000 0




S8 OI% (SH9 H2)
A Z33 - 2A(3H) - HIRAY - BES Off &K & A HusZ
[ 314,042 229,452 84,590
= 1,441,958 1,526,548 A84,590
sSHEHA HWEXES[BSHA 7 852,000 0 852,000
= 368,000 0 368,000
[ 232,000 0 232,000
= 252,000 0 252,000
307 2Ito1d 852,000 0 852,000
= 368,000 0 368,000
< 232,000 0 232,000
s 252,000 0 252,000
09 2HAHEXS 852,000 0 852,000
O 2XEAN SEHA FPUXA(EHI)
29,000,000 *4CH 116,000 0 116,000
< 48,000 0 48,000
= 68,000 0 68,000
O MattA FUX 92,000, 0002 +8CH 736,000 0 736,000
= 368,000 0 368,000
< 184,000 0 184,000
= 184,000 0 184,000
M 2 44,133 25,200 18,933
= 3,060 2,000 1,060
< 10,522 5,000 5,622
i 30,551 18,200 12,351
08 2HEES AdEtY ElE XA 24,633 19,200 5,433
= 3,060 2,000 1,060
(= 6,472 5,000 1,472
s 15,101 12,200 2,901
301 LELEE S 24,633 19,200 5,433
= 3,080 2,000 1,060
< 6,472 5,000 1,472
= 15,101 12,200 2,901
14 JIEt2 4= 24,633 19,200 5,433
O DX 2HHTE RElBt QIHIEIE X
& Z& 24,633,000 24,633 19,200 5,433
= 3,080 2,000 1,060
< 6,472 5,000 1,472
o 15,101 12,200 2,901
DHE2AEL MHE0IEZES 13,500 0 13,500
[ 4,050 0 4,050
= 9,450 0 9,450
402 RIZEXH20IH 13,500 0 13,500
< 4,050 0 4,050
= 9,450 0 9,450

=
I




A NS
M HE DEYE P
=@l WEEAN 2l (CH9: &S1)
SA - B BR(S) - HRAY - BAS o v o H o HmS2
02 QIR 2 AL E X (0IETHR) 13,500 0 13,500
O 0 24X XE0IE€ ZEEX &R K&
Ared 500,000 +27CH 13,500 0 13,500
< 4,050 0 4,050
= 9,450 0 9,450
HeRas(erdns) 433,662 414,645 19,017
BEXE 19,017 0 19,017
2EHIBHEE 19,017 0 19,017
802 Btz DI Et 19,017 0 19,017
01 2 NBxIeHE= 15,111 0 15,111
O 20228 g8 28X+ Heigte =24l Okt
2,030 3 0 3
O 20238 ADIE HS2ACIAIAE 2H| Y&
o 14,896,9102 14,897 0 14,897
O 2023 ADE HS22IAIAE =H| OIXt
210,940% 211 211
02 Al - SHISEZBHES 3,906 3,906
O 20234 RigstdasA2el, otEdg &I
SIMEFLEAMY THI FHEH o O|Xt
3,033,000& 3,033 0 3,033
O 20238 E2E= AMESHNEE 23t
CH &N L OIXt 265,000& 265 0 265
O 20234 ettt 252 KJAMY Tl
Zedot & ofXt 608,000& 608 0 608
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